## **Scholar Support Programme (SSP)**

## **Annual Report**



# Govt. Victoria College, Palakkad 2019-2020

Scholar Support Programme (SSP)

Scholar Support Programme (SSP) provided an opportunity for imparting personalized

additional support to needy students through tutorials, external mentoring, etc. Internal

Quality Assurance Cell (IQAC) after consulting with the teaching departments identified the

subjects for SSP tutorials. Students who are poor in their studies in the selected subjects were

identified and from them forty students were selected from first year and fifty students each

from second year and third year UG courses for scholar support programme.

Fifteen faculty members were selected as internal mentors and each of them were given a

team of eight/ten students. A coordinator is also selected for the programme. The details are

given below. The internal mentors conducted tutorial sessions to their wards. The small group

size of students helped the teachers to give individual attention and care to each student.

In the SSP tutorials the difficult topics in the identified subjects were explained to the

students and the level of understanding is continuously assessed via conducting viva voce as

well as series of test papers. The SSP tutorials certainly helped the students to gain confidence

in the subject and prepare for the university examinations as well as competitive exams.

This year the Scholar Support Programme also included a number of general mentoring

sessions to improve mentees' English language skills, basics of English, learning skills, personal

growth and competitive exams training for their all-round development and to enhance

employability.

Out of Rs.1,89,500/- received as SSP fund for the financial year 2019-20, an amount of

Rs. 1,89,500/- was utilized for the programmes as per the guidelines. The duly signed

utilization certificate and statement of expenditure along with year wise list of Internal

mentors, students, external mentors, details of mentoring sessions (internal and external)

conducted in connection with SSP and a few photographs are also attached.

We are thankful to The Department of Higher Education and Department of Collegiate

Education, Govt. of Kerala for the financial assistance and we express our gratitude to The State

Coordinator Dr K Murugan and his team for their guidance and support.

Palakkad

19/02/20

Dr. John P R

SSP Coordinator

Govt. Victoria College, Palakkad

**Principal** 

#### SCHOLAR SUPPORT PROGRAMME 2019-20 Govt. Victoria College, Palakkad Statement of expenditure for the financial year 2019-20

	SI No.	Date	Item	Head	Amount
I	21 140.	שמנט	Level I (First Year): 75 Classes for first year		MINOUIL
•	1	20/12/19	Remuneration for 5 hrs @500/ (Dr. Rekha E)	Internal/General Mentoring	2500
	2	20/12/19	Remuneration for 5 hrs @500/ (Dr. sreekala K I )	Internal/General Mentoring	2500
	3	20/12/19	Remuneration for 5 hrs @500/( Dr. Abubakkar KK )	Internal/General Mentoring	2500
	4	20/12/19	Remuneration for 5 hrs @500/ ( Pramod A )	Internal/General Mentoring	2500
	5	20/12/19	Remuneration for 5 hrs @500/ (Hareesh K P )	Internal/General Mentoring	2500
	6	20/12/19	Remuneration for 10 hrs @500/ ( Dr. Sheena N G )	Internal/General Mentoring	5000
	7	10/02/20	Remuneration 10 hrs @500/ (Dr. Sheena N G )	Internal/General Mentoring	5000
	8	10/02/20	Remuneration 3 hrs @500/ ( Darsana Rajan )	Internal/General Mentoring	1500
	9	10/02/20	Remuneration 2 hrs @500/ ( Darsana Rajan)	Internal/General Mentoring	1000
	10	10/02/20	Remuneration for 5 hrs @500/ (Dr. Rekha E)	Internal/General Mentoring	2500
	11	10/02/20	Remuneration for 5 hrs @500/ (Dr. sreekala KI)	Internal/General Mentoring	2500
	12	10/02/20	Remuneration for 5 hrs @500/( Dr. Abubakkar K K )	Internal/General Mentoring	2500
	13	10/02/20	Remuneration for 5 hrs @500/ (Pramod A)	Internal/General Mentoring	2500
	14	10/02/20	Remuneration for 5 hrs @500/ (Hareesh K P )	Internal/General Mentoring	2500
				Total	37500
II			Level II (Second Year): 75 Classes for second ye		
	15	20/12/19	Remuneration for 5 hrs @500/ ( Alen Alex Philip )	Internal/General Mentoring	2500
	16	20/12/19	Remuneration for 5 hrs @500/ (Sumitra C C )	Internal/General Mentoring	2500
	17	20/12/19	Remuneration for 5 hrs @500/ (Dr. Jisha K K)	Internal/General Mentoring	2500
	18	20/12/19	Remuneration for 5 hrs @500/ (Gayathri UK)	Internal/General Mentoring	2500
	19	20/12/19	Remuneration for 5 hrs @500/ (Mahija K)	Internal/General Mentoring	2500
	20	10/02/20	Remuneration for 10 hrs @500/ ( Lakshmi A K )	Internal/General Mentoring	5000
	21	10/02/20	Remuneration for 10 hrs @500/ (Smitha M)	Internal/General Mentoring	5000
	22	10/02/20	Remuneration 3 hrs @500/ ( Darsana Rajan )	Internal/General Mentoring	1500
	23	10/02/20	Remuneration 2 hrs @500/ ( Darsana Rajan)	Internal/General Mentoring	1000
	24	10/02/20	Remuneration for 5 hrs @500/ ( Alen Alex Philip )	Internal/General Mentoring	2500
	25	10/02/20	Remuneration for 5 hrs @500/ (Sumitra C C )	Internal/General Mentoring	2500
	26	10/02/20	Remuneration for 5 hrs @500/ (Dr. Jisha K K)	Internal/General Mentoring	2500
	27	10/02/20	Remuneration for 5 hrs @500/ (Gayathri UK)	Internal/General Mentoring	2500
	28	10/02/20	Remuneration for 5 hrs @500/ (Mahija K)	Internal/General Mentoring	2500
				Total	37500
III	20		Level III (Third Year): 100 Classes for third year	•	5000
	29	20/12/19	Remuneration for 10 hrs @500/ (Dr. Sandeep K)	Internal/General Mentoring Internal/General Mentoring	5000
	30	20/12/19	Remuneration for 10 hrs @500/ (Ajeesh PV)	,	5000
	31	20/12/19	Remuneration for 10 hrs @500/ (Aboobacker P)	Internal/General Mentoring	5000
	32	20/12/19	Remuneration for 10 hrs @500/ (Dr. V Ravi)	Internal/General Mentoring	5000
	33	20/12/19	Remuneration for 10 hrs @500/ (Dr. Smitharani M S)	Internal/General Mentoring	5000
	34	31/01/20	Remuneration for 10 hrs @500/ (Dr. Sandeep K)	Internal/General Mentoring Internal/General Mentoring	5000
	35	10/02/20	Remuneration for 10 hrs @500/ (Ajeesh P V)	,	5000
	36	10/02/20	Remuneration for 10 hrs @500/ (Aboobacker P)	Internal/General Mentoring	5000
	37	10/02/20	Remuneration for 10 hrs @500/ (Dr. V Ravi)	Internal/General Mentoring	5000
	38	10/02/20	Remuneration for 10 hrs @500/ (Dr. Smitharani M S)	Internal/General Mentoring	5000
				Total	50000

IV	39	25/11/19	Stationary kit @150 per student for 130 students	Stationary Kit for students	19500
V	40	14/02/20	Coordinator Charges (Dr. John P R)	Coordinator Charges	20000
VI			Office expenses		
	41	04/12/19	Office stationary	Office expenses	1080
	42	14/02/20	Travelling allowance (Dr John P R)	Office expenses	1960
	43	14/02/20	Travelling allowance (Dr John P R)	Office expenses	1960
				Total	5000
VII		Competiti	ive exam skills (Third year only): 40 Classes for	r third year @Rs. 500/ho	ur
	44	10/02/20	Remuneration for 25 hrs @500/ (Dr. Anand K)	Competitive Exams Skills	12500
	45	10/02/20	Remuneration for 5 hrs @500/ (Dr. Padmakumar K)	Competitive Exams Skills	2500
	46	10/02/20	Remuneration for 10 hrs @500/ (Sreeba U)	Competitive Exams Skills	5000
				Total	20000
				<b>Grand Total</b>	189500

Palakkad 19/02/2020

Dr. John P R (SSP Coordinator)

Principal

## Fund allotment and utilization under Scholar Support Programme for the financial year 2019-20

Name of the college : Govt. Victoria College, Palakkad

University Affiliated : University of Calicut

Grant Sanctioned : 189500/-

SI No.	Head	Sanctioned	Utilized	Balance
Ţ	Level I (First Year):			
1	75 Classes for first year @Rs. 500/hour	37500	37500	0.00
II	Level II (Second Year):			0.00
11	75 Classes for second year @Rs. 500/hour	37500	37500	
III	Level III (Third Year):			0.00
111	100 Classes for third year @Rs. 500/hour	50000	50000	
IV	Stationary kit @150 per student for 130 students	19500	19500	0.00
V	Coordinator Charges	20000	20000	0.00
VI	Office expenses	5000	5000	0.00
VII	Competitive exam skills (Third year only):			0.00
	40 Classes for third year @Rs. 500/hour	20000	20000	
	Grand <b>Total</b>	189500	189500	0.00

Palakkad 19/02/2020

Dr. John P R (SSP Coordinator)

Principal

## Year-wise List of Internal Mentors and Students, Subject and Papers for Internal Mentoring

First Year			
Name of the Internal mentor	Name of the Mentees	Class (BA/BSc/BCom)	
Dr. Rekha E	Neethu M	History	
Asst. Professor in History	Sneha L	History	
	Greeshma K	History	
Sub: <b>History</b>	Sheeja B	History	
1st Sem: <b>Trends in Histeriography</b>	Ajeesh B	History	
Sem. Henus in insteriography	Ajith M R	History	
2 <sup>nd</sup> Sem: <b>Trends in Indian</b>	Sareer Sayed K	History	
Histeriography	Prasanth T P	History	
Dr. Sreekala K	Akshaya M	Hindi	
Asst. Professor in Hindi	Arya C S	Hindi	
	Adithya J B	Hindi	
Sub: <b>Hindi</b>	Ansiya A	Hindi	
1st C Him di Cabiabaraha Jabiba a J	Joel John K	Hindi	
1 <sup>st</sup> Sem: <b>Hindi Sahithyaka Ithihas-I</b>	Aswathy S	Hindi	
2 <sup>nd</sup> Sem: <b>Hindi Sahithyaka Ithihas-II</b>	Khadeeja Thwahira U P	Hindi	
	Anakha P	Hindi	
Dr. Abubakkar K K	Ancy A	English	
Asst. Professor in English	Princy A	English	
Tissu i rolessor in Brightsh	Sreepriya S	English	
Sub: <b>English</b>	Adhulya Devadas	English	
	Aboo Hafis T P	English	
1 <sup>st</sup> Sem: <b>Introducing Literature</b>		English	
2nd Sem: <b>Appreciating Poetry</b>	Jasmi Prasanya Vaishakh	English	
Z Sein. Appreciating I detry		_	
	Nijil Krishna P K Amal M	English (Hanna)	
Pramod A		Commerce (Honrs) Commerce (Honrs)	
Asst. Professor in Commerce	Prabitha M	Commerce (Honrs)	
Sub: Commerce (Honours)	Sachu K K	` ′	
Sub. Commerce (Honours)	Haritha K	Commerce (Honrs)	
Paper (1st Sem): Business Management	Aftab Roshan	Commerce (Honrs)	
_	Keerthi Krishna K	Commerce (Honrs)	
Paper (2 <sup>nd</sup> Sem): <b>Managerial Economics</b>	Sreelakshmi B	Commerce (Honrs)	
	Kenny J Philips	Commerce (Honrs)	

	Caratharidae	Carallerit
	Gayathridas	Sanskrit
Hareesh K P	Dhrisya D	Sanskrit
Asst. Professor in Sanskrit	Sulfath A	Sanskrit
Sub: <b>Sanskrit</b>	Greeshma K	Sanskrit
1st Sem: <b>Methodology of Sanskrit Sahithya</b>	Pratheeksha P	Sanskrit
1 Sem. Methodology of Sanski it Samthya	Indu P R	Sanskrit
2 <sup>nd</sup> Sem : <b>Linguistics</b>	Aiswarya	Sanskrit
	Joshna C	Sanskrit
Seco	nd Year	
		Class
Name of the Teacher	Name of Mentees	(BA/BSc/BCom)
Alen Alex Philip	Aiswarya H	Botany
Asst. Professor in Botany	Anjana K K	Botany
•	Arun A	Botany
Sub: <b>Botany</b>	Dharsana C	Botany
	Gayathri Lal	Botany
3rd Sem: Microbiology, Mycology,	Lohitha K R	Botany
Lichenology and Plant Pathology	Megha K K	Botany
Att C. Physical and Powerland		Botany
4th Sem: Phycology, Bryology and	Sruthi M	
Pteridology		
Sumitra C C	Krishnan M S	Comp. Sc.
Asst. Professor in Comp. Sc. (Guest Faculty)		Comp. Sc.
Cub. Computer Science	Muhammed Anas C	Comp. Sc.
Sub: Computer Science	Mukesh M	Comp. Sc.
3rd Sem : <b>DSA</b>	Sijeeshmon P B	Comp. Sc.
5 Schi. DSA	Samuel K C	Comp. Sc.
4th Sem: <b>DBMS</b>	Rithin Joy S	Comp. Sc.
	Anooj K	Comp. Sc.
Dr. Jisha K K	Muhammed Althaf	Economics
Asst. Professor in Economics	Ashif S	Economics
	Janifar S	Economics
Sub: <b>Economics</b>	Bhuvana N	Economics
	Vinitha M	Economics
3rd Sem : Quantitative Methods for	Anjali Raj M	Economics
Economic Analysis-I	Megha S	Economics
4th Com . Quantitative Mathada for		
4th Sem : <b>Quantitative Methods for Economic Analysis-II</b>	Neethu T P	Economics
Gayathri U K	Chinchumol S	Zoology
Asst. Professor in Zoology	Abith R	Zoology
Asst. 1 folessor in Zoology	Faiza T	Zoology
Sub: <b>Zoology</b>	Aswin V	Zoology
3rd Sem : Animal Diversity- Chordata-I	Jerly Veronica	Zoology
•	Dhanya M	Zoology
4th Sem : Animal Diversity- Chordata-II	Neethu R	Zoology
		Zoology
	Jisma T J	Louidgy

		ı
Mahija K	Muhammed Riyas	Commerce (Finance)
Asst. Professor in Commerce	Sindhu S P	Commerce (Finance)
	Anjali A P	Commerce (Finance)
Sub: Commerce (Finance)	Sangeetha M	Commerce (Finance)
3rd Sem : <b>Basic Numerical Skills</b>	Anju N	Commerce (Finance)
Sem : Basic Numerical Skills	Sruthi M	Commerce (Finance)
4th Sem: <b>Quantitative Techniques for</b>	Shanmugha Priya	Commerce (Finance)
Business	Manikandan C	Commerce (Finance)
	rd Year	
	Athulya S	Chemistry
Dr. Sandeep K	Anagha S	Chemistry
Asst. Professor in Chemistry	Arun Krishna K	Chemistry
Cub. Chomistry	Keerthi P M	Chemistry
Sub: <b>Chemistry</b>	Nidhiya R	Chemistry
5th Sem: <b>Physical Chemistry-II</b>	Salisha L	Chemistry
5 Jenn. I mysicai dheimisti y-11	Sneha C	Chemistry
6th Sem: Advanced and Applied	Sukanya G	Chemistry
Chemistry	Sumith M S	Chemistry
J	Goutham Krishna	Chemistry
	Gowrishankar S	Physics
Ajeesh P V	Aneesh D	Physics
Asst. Professor in Physics	Ajith C Raj	Physics
	Dileep T V	Physics
Sub: <b>Physics</b>	Juvairiya A P	Physics
	Jishnu K R	Physics
5th Sem: <b>Electronics</b>	Manu K M	Physics
	Nidheesh A	Physics
6th Sem: Nuclear Physis	Srinivasan R S	Physics
	Selvam M	Physics
Aboobacker P	Vishnuprasad B	Mathematics
	Nithul U	Mathematics
Asst. Professor in Mathematics	Praveen P	Mathematics
	Haritha Krishna K S	Mathematics
Sub: Mathematics	Sabarinath K	Mathematics
5th Sem: <b>Abstract Algebra</b>	Krishnapriya P	Mathematics
5 Sein : Abstract Aigebra	Sicily Seena	Mathematics
6th Sem: <b>Real Analysis</b>	Manju M	Mathematics
0 0000 12000 12000	Athul P	Mathematics
	Farshana A S	Mathematics
Dr. V Ravi	Anitha C	Tamil
Asst. Professor in Tamil	Deepika V	Tamil
11000 I Totobot in Tullin	Haripriya K	Tamil
Sub: <b>Tamil</b>	Jeevitha A	Tamil
	Sofiya K	Tamil
5th Sem: <b>Methodology and</b>	Pandiselvam	Tamil
Perspectives of Tamil Language and	Sajina K	Tamil
Literature		Tamil
6th Sem: Literary Criticism	Saraswathy M	

	Stellamary B	Tamil
	Tamil Selvam P	Tamil
Dr. Smitharani M S	Aiswarya N S	Malayalam
Asst. Professor in Malayalam	Anusha K S	Malayalam
Tiosa Troicesci in Fraidy alam	Akshaya K	Malayalam
Sub: Malayalam	Jaseela S	Malayalam
	Saranya K B	Malayalam
5th Sem: Malayala Vyakaranam	Sruthi V J	Malayalam
	Sini P G	Malayalam
6th Sem: <b>Pourasthya Sahithya</b>	Vinitha M	Malayalam
Sidanthangal	Vinduja M	Malayalam
	Nithin R	Malayalam

### **Details of Internal mentoring sessions**

SI No	Name of the Internal mentor	Subject	Sem	Paper	Total hours of internal
		mentoring			
1	Dr. Rekha E	History	I	Histeriography	10
1	DI. Rekila L	Thistory	II	Trends in Indian	10
			11	Histeriography	
			I	Hindi Sahithyaka	
2	Dr. Sreekala K	Hindi		Ithihas-I	10
			II	Hindi Sahithyaka	
				Ithihas-II	
3	Dr. Abubakkar K K	English	I	Introducing Literature	10
	DI. Houbannai II II	Liigiisii	II	Appreciating Poetry	10
4	Pramod A	Commerce	I	Business Management	10
1	Tumouri	(Honours)	II	Managerial Economics	10
			I	Methodology of	
5	Hareesh K P	Sanskrit	_	Sanskrit Sahithya	10
			II	Linguistics	
			Second	l year	
				Microbiology,	
	Alen Alex Philip		III	Mycology, Lichenology	
6	<b>F</b>	Botany		and Plant Pathology	10
			IV	Phycology, Bryology	
				and Pteridology	
7	Sumitra C C	Comp. Sc	III	DSA	10
'	Summa C C	Comp. 3c	IV	DBMS	10
				Quantitative Methods	
			III	for Economic	
8	Dr. Jisha K K	Economics		Analysis-I	10
	Dir jisiia ix ix	Leonomics	ECOHOLLICS	Quantitative Methods	
			IV	for Economic	
				Analysis-II	
	Gayathri U K		III	Animal Diversity-	
	<b>y</b>			Chordata-I	

9		Zoology	IV	Animal Diversity- Chordata-II	10
10	Mahija K	Commerce (Finance)	III	Basic Numerical Skills  Quantitative Techniques for Business	10
			Third		
4.4	D 0 1 W	<b>C1</b>	V	Physical Chemistry-II	2.0
11	Dr. Sandeep K	Chemistry	VI	Advanced and Applied Chemistry	20
12	Ajeesh P V	Physics	V	Electronics	20
		1 Hy Sies	VI	Nuclear Physis	20
13	Aboobacker P	Maths	V	Abstract Algebra	20
13		Matils	VI	Real Analysis	20
14	Dr. V Ravi	Tamil	V	Methodology and Perspectives of Tamil Language and Literature Literary Criticism	20
15	Dr. Smitharani M S	Malayalam	V	Malayala Vyakaranam Pourasthya Sahithya Sidanthangal	20

### **Details of General Mentoring Sessions**

SI No	Name of the Mentor Subject		Total Hours of General Mentoring		
	First year				
1	<b>Dr. Sheena N G,</b> Asst. Professor in English (Guest Faculty)	English Language Skills Basics of English	10		
2	<b>Dr. Sheena N G</b> , Asst. Professor in English (Guest Faculty)	English Language Skills Spl Class for English papers	10		
3	<b>Ms. Darsana Rajan</b> (Psychologist, Jeevani)	Learning Skills	3		
4	<b>Ms. Darsana Rajan</b> (Psychologist, Jeevani)	Personal Growth	2		
		Second year			
5	<b>Dr. Lakshmi A K</b> Asst. Professor in English	English Language Skills Basics of English	10		
6	<b>Ms. Smitha M</b> Asst. Professor in English	English Language Skills Spl Class for English papers	10		
7	<b>Ms. Darsana Rajan</b> (Psychologist, Jeevani)	Learning Skills	3		
8	<b>Ms. Darsana Rajan</b> (Psychologist, Jeevani)	Personal Growth	2		
		Third year			
6	<b>Dr. Anand K</b> Asst. Professor in Commerce	Competitive Exams Training	25		
7	<b>Dr. Padmakumar K</b> Asst. Professor in Chemistry	Competitive Exams Training	5		
	<b>Dr. Sreeba U</b> Asst. Professor in History	Competitive Exams Training	10		

#### \*A few photographs of the programme









\*\*\*\*\*\*\*\*\*\*\*\*\*\*\*\*\*\*